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TS12/1

 Match List I with List II and select the correct answer
using the code given below the lists:

LIST I LIST II
(Convention) (Primarily related to)
a). Basal Convention 1. Organic pollutants
b) Rotterdam Convention 2. Mercury
c) Stockholm Convention 3. Hazardous wastes
d) Minamata Convention. 4. Pesticides

b




TS12/2

* The Indian Universities Commission appointed by Lord
Curzon in 1902 was headed by

A) Sir Willam Hunter

B) Sir Thomas Raleigh

C) Lord Haldane

D) Dr. Michael Sadler




TS12/3

* Who was the founder of Brahma Samaj of India?

A) Raja Ram Mohan Roy
B) Debendranath Tagore

C) Keshab Chandra Sen

D) Ishwar Chandra Vidyasagar




TS12/4

» Aurangzeb had compiled the greatest digest of Islamic
Law called

A) Fatawa-i-Alamgiri

B) Fatawa-i-Jahandari

C) Miraz-i-Mughals

D) Fatah-i-Saltan




TS12/5

* The States Reorganization Commission (SRC) of 1953 was
consisted of

A) S K Dar, Justice Fazal Ali and K M Panikkar
B) Sardar Vallabhai Patel, K M Panikkarand S K Dar

C) Justice Fazal Ali, Hridyanath Kunzruand K M
Panikkar

D) K M Panikkar, Sardar Vallabhbhai Patel and Justice
Fazal Ali




TS12/6

* Which of the following statements are true of Shah Alam
11

1. He joined Mir Jafar of Bengal to fight the British

2. He joined Mir Qasim of Bengal and Siraj ud-Daulah of
Awadh to fight the British

3. He was defeated by the British

4. He lived at Allahbad as a pensioner of the British

Select the correct answer using the code given below:

A) 2,3and 4
B) 1,2 and 4
C) 1,3and 4
D) 2 and 3 only




TS12/7

* Which of the following statements are true of Bahadur
Shah 7

1. He succeeded Aurangzeb

2. He had to fight his brothers for throne

3. He reversed many policies of his predecessor

4. He ordered for the destruction of some temples

Select the correct answer using the code given below.

A)1,2and 3

B) 2,3and 4

C) 2 and 3 only
D)1and 4




TS12/8

 The Diwan-i-Aam referred to

A) a collection of popular poetry

B) the hall of public audience
C) the senior most citizen

D) a rank in the Mughal Government




TS12/9

* Who issued an Independence Proclamation in 1930 in the
name of the ‘Indian Republican Army’?

A) Sachindra Nath Sanyal

B) Chandra Shekhar Azad
C) Surya Sen

D) Bhagat Singh




TS12/10

* The Congress Leader Swami Ramananda Tirtha was active
in the freedom struggle in which of the following Princely
States?

A) Kashmir

B) Mysore

C) Baroda

D) Hyderabad




TS12/11

* The basis of the failed Gandhi-Jinnah Talks of 1944 was

A) Wavell Plan
B) Partition of India
C) Rajagopalachari Formula

D) Cabinet Mission Proposal




TS12/12

* In 1922, who referred to Lenin as ‘the Dear Leader of the
Kisans'?

A) Swami Vidyananda

B) Swami Sahajananda
C) Baba Ramchandra

D) Jawaharlal Nehru




TS12/13

* Who among the following translated the Manusmriti into
English for the first time?

A) Sir William Jones
B) Charles Wilkins

C) N B Halhed

D) Warren Hastings




TS12/14

* The Asiatic Society of Bengal was founded by Sir William
Jones in the year

A) 1782

B) 1784

C) 1786

D) 1701




TS12/15

* In 1942, the Prati Sarkar was started in

A) Belgaum in Karnataka

B) Chittagong in Bengal

C) Guntur in Andhra Pradesh

D) Satara in Maharashtra




TS12/16

* In 1967, which language was added to the list of major
recognized Indian Languages by a Constitutional
Amendment?

A) Pashto

B) Sindhi

C) Garo

D) Konkani




TS12/17

* Which one of the following Acts provided for the
inclusion of certain additional ‘non-official members in
the Executive Council of the Governor-General for the
first time?

A) The Indian Councils Act, 1861

B) The Government of India Act, 1919

C) The Government of India Act, 1858

D) The Morley-Minto Reforms 1909




TS12/18

* Which one of the following Acts introduced Dyarchy in
the provinces?

A) The Government of India Acct,1919

B) The Government of India Act, 1935
C) The Indian Councils Act,1909

D) The Indian Independence Act, 1947




TS12/19

* Which of the following legislatures passed the Indian
Independence Act, 19477

A) The British Parliament
B) The Indian Parliament

C) The British-Indian Parliament

D) The Central Legislative Assembly




TS12/20

* The Preamble to the Constitution of India, as adopted on
26" November, 1949, originally described India as a

1. Sovereign republic

2. Democratic republic
3. Socialist republic

4. Secular republic

Select the correct answer using the code given below.

A) 10nly

B) 1and 2 only
C) 2,3and 4 only
D) 1,2,3and 4




TS12/21

* Which of the following statements in respect of the
Union of India is/are correct?

1. The Union of India is more like the Canadian
Federation than American

2. Residuary powers are vested in the Union

3. States of the Union of India have constitutional right to

secede
Select the correct answer using the code given below

A) 10nly

B) 1and 2 only
C) 2 and 3 only
D) 1,2 and 3




TS12/22

* Which of the following statements about the territory of
India is/are correct?

1. [t comprises of the territories of the States

2. It comprises the Union Territories specified in the First
Schedule
3. It may include other acquired territories

Select the correct answer using the code given below

A) 10nly

B) 1and 2 only
C) 2 and 3 only
D) 1,2 and 3




TS12/23

* Which of the following statements according to the
Constitution of India is/are correct?

1. Equality before the law is available to the citizens of
Indla only

ci ahty of opportunity in the matters of public
emp oyment is available to citizens of India only
3. Right to freedom of speech and expression is available
to al? ersons residing in India

Select the correct answer using the code given below:

A) 10onl

B)) zonl{

C) 3only
D) 1,2 and 3




TS12/24

* Which Constitutional Amendment Act enjoined upon the
State to provide free and compulsory education to all
children of the age of six to fourteen years?

A) The 85 Amendment Act

B) The 86" Amendment Act
C) The 87*" Amendment Act

D) The 88t Amendment Act




TS12/25

* Which Article of the Constitution of India provides for
the right of minorities to establish and administer
educational institutions?

A) Article 27
B) Article 28

C) Article 29

D) Article 30




TS12/26

* Which one of the following is not a provision under the
Directive Principles of State Policy?

A) Right to work

B) Provision for early childhood care and education to
children below the age of six years

C) Promoting harmony and spirit of common
brotherhood amongst all the people of India

D) Separation of Judiciary from Executive




TS12/27

* Who has coined the term ‘global village'?

A) Hans J. Morgenthau
B) E H Carr
C) Marshall McLuhan

D) Richard Falk




TS12/28

* Which one of the following statements is NOT true about
Perestroika?

A) It is the name of a book authored by Mikhail
Gorbachev

B) It was anti-Stalinist but not anti-socialist

C) It reflected Gorbachev’s ideas on the creation of
Commonwealth of Independent States

D) It emphasized a return to the ideals of Lenin




TS12/29

* Which of the following is/are privilege/privileges enjoyed
by a Member of the Parliament?

1.Freedom from arrest in criminal cases

2. Freedom from arrest under a Law Of Preventive
Detention

3. Freedom of speech within the walls of the House
4. Freedom not to give evidence as witness, unless
permitted by the House

Select the correct answer using the code given below

A) 1only B) 2,3,and 4
C) 3and 4 only D)1and 4




TS12/30

* Which of the following statements about ‘Cold War’ is are
correct?

1. It refers to the political and military rivalary between
the United States and the Soviet Union

2. The Cold War also refers to the years between the
Truman Doctrine and Krushchev Thaw

3. The term refers to a certain kind of behavior,
characterized by superpower confrontation,
unaccompanied by ideology.

Select the correct answer using the code given below

A) 10nly B) 1and 2 only
C) 2 and 3 only D) 1,2 and 3




TS12/31

* Who among the following has authored. Imperialism: the
Highest Stage of Capitalism?

A) Karl Marx
B) Antonio Gramsci

C) VI Lenin

D) Luxemberg




TS12/32

* Which one of the following is declared the “Word of the
Year’ for 2018 by the Oxford Dictionary?

A) Post-truth
B) Youthquake
C) Vape

D) Toxic




TS12/33

* In November 2018, the United Nations Security Council
has lifted the arms embargo, travel ban, assets freeze and
targeted sanctions previously imposed on which one of
the following African Countries?

A) Eritrea
B) Somalia

C) Djibouti

D) Ethiopia




TS12/34

* Which of the following two districts in India and Pakistan

were connected by the Dera Baba Nanak-Kartarpur Sahib
Corridor?

A) Amritsar-Nankana Sahib
B) Amritsar-Narowal

C) Gurdaspur-Nankana Sahib

D) Gurdaspur-Narowal




TS12/35

« Which one of the following was the theme of the 14
Formation Day of the National Disaster Management
Authority?

A) Early Warning for Disasters

B) School Safety
C) Disaster and Preparations

D) Awareness and Disaster




TS12/36

* ‘Hausla-2018" was held in New Delhi in November 2018,
this was organised as a national festival by the

A) Ministry of Rural Development

B) Ministry of Women and Child Development

C) Ministry of Tourism

D) Ministry of Culture




TS12/37

* Which one of the following is the motto of NCC?

A) Unity and Discipline

B) Unity and Integrity

C) Unity and Command

D) Unity and Service




TS12/38

* Which one of the following departments is NOT under
the Ministry of Home Affairs?

A) Department of Official Languages

B) Department of Border Management
C) Department of Jammu and Kashmir Affairs

D) Department of Legal Affairs




TS12/39

* Which of the following statements is/are correct?

1. India is a signatory to the United Nations Convention to
Combat Desertification (UNCCD)

2. Ministry of Home Affairs is the nodal Ministry in the
Government of India for UNCCD.

Select the correct answer using the code given below

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS12/40

» Under which one of the following Articles of the
Constitution of India, a statement of estimated receipts
and expenditure of the Government of India has to be laid
before the Parliament in respect of every financial year?

A) Article no
B) Article 1
C) Article 112

D) Article 113




TS12/41

* The South Asian Association for Regional Cooperation
was founded in

A) Colombo
B) Islamabad

C) Kathmandu

D) Dhaka




TS12/42

* Which one of the following countries is NOT a founding
member of the New Development Bank?

A) Brazil
B) Canada
C) Russia

D) India




TS12/43

* The Public Financial Management System (PFMS) is a
web-based online software application designed,
developed, owned and implemented by the
A) Department of Financial Services

B) Institute of Government Accounts and Finance

C) Controller General of Accounts

D) National Institute of Financial Management




TS12/44

 Match List I with List II and select the correct answer
using the code given below the Lists:

LIST I LIST II

(Institute) (Location)

a) National Institute of 1.Chennai
Ayurveda

b) National Institute of 2. Bengaluru
Homoeopathy

¢) National Institute of 3. Kolkata
Unani Medicine

d) National Institute of Siddha 4. Jaipur

Code: b

d
4
4
1
1




TS12/45

* Which of the following statements about ‘Invest India’
is/are correct?
1.It is joint venture (not for profit) company
2. It is the National Investment Promotion and
Facilitation Agency of India

Select the correct answer using the code given below:

A) 10nly

B) 2 only
C) Both1and 2

D) Neither 1 nor 2




TS12/46

* The National Dope Testing Laboratory functions under

A) Ministry of health and Family Welfare

B) Ministry of Science and Technology

C) Ministry of Youth Affairs and Sports

D) Ministry of Home Affairs




TS12/47

* Which one of the following statements about the
Organization of Islamic Cooperation is NOT correct?

A) Its permanent Secretariat is located at Jeddah

B) It endeavors to safeguard and protect interests of the
Muslim world in the spirit of promoting international

peace and harmony among various people of the world

C) It is the largest inter-governmental organization of the
world

D) It has consultative and cooperative relations with the
UN




TS12/48

« Which among the following IN ship(s) participated in the
SIMBEX-19?

1. INS Kolkata
2, INS Shakti
3. INS Vikrant

Select the correct answer using the code given below:

A)1,2and 3

B) 1and 2 only
C) 2 and 3 only
D) 10nly




TS12/49

* ‘Triples” is a new format of

A) Boxing

B) Judo
C) Chess

D) Badminton




TS12/50

* Who among the following was the Chairman of the
Committee on Deepening Digital Payments appointed by
the RBI?

A) H R Khan
B) Nandan Nilekani

C) N R Narayan Murthy

D) Sanjay Jain




TS12/51

* Why was India’s G S Lakshmi in news recently?

A) She was the first Indian to play cricket for an English
County Club

B) She became the first female ICC match refree

C) She was awarded the Ramon Magsaysay Award for the
year 2019

D) She was the recipient of the Booker Prize I the year
2019.




TS12/52

* Who among the following was elected as the President of
Indonesia for the second term?

A) Joko Widodo

B) Prabowo Subianto

C) Sandiaga Uno

D) Jusuf Kalla




TS12/53

* In India, May 21 is observed as

A) NRI Day
B) National Youth Day

C) National Technology Day

D) National Anti-Terrorism Day




TS12/54

* Arrange the following in the chronological order of their
implementation:

1. The Indian Factory Act (First)
2. The Vernacular Press Act

3. The Morley -Minto Reforms
4. The Cornwallis Code

Select the correct answer using the code given below:

A) 4,2,1,3
B) 2,4,1,3
C) 3,4,1,2
D) 2,1,3,4




TS12/55

» Article371 A of the Constitution of India provides special
privilege to

A) Nagaland

B) Mizoram
C) Sikkim

D) Manipur




TS12/56

* How many Zonal Councils were set up vide Part III of the
States Reorganization Act, 19567

A) 8

B) 7

C)6

D) 5




TS12/57

* Which provision of the Constitution of India provides
that the President shall not be answerable to any Court in
India for the exercise of powers of his office?

A) Article 53
B) Article 74
C) Article 361

D) Article 363




TS12/58

* Which law prescribes that all proceedings in the Supreme
Court shall be in English language?

A) Article 145 of the Constitution

B) Article 348 of the Constitution

C) The Supreme Court Rules, 1966

D) An Act passed by the Parliament




TS12/59

* The total number of members in the Union Council of
Ministers in India shall NOT exceed

A) 10% of the total number of members of the Parliament
B) 15% of the total number of members of the Parliament

C) 10% of the total number of members of the Lok Sabha

D) 15% of the total number of members of the Lok Sabha




TS12/60

* Which one of the following is the most noticeable
characteristic of the Mediterranean climate?

A) Limited geographical extent

B) Dry summer

C) Dry winter

D) Moderate temperature




TS12/61

* Which one of the following rivers takes a U-turn at
Namcha Barwa and enters India?

A) Ganga

B) Tista
C) Barak

D) Brahmaputra




TS12/62

* What was the Dutt-Bradley thesis?

A) The working Committee of the Indian National
Congress decided that Congress should play a crucial role
in realizing the independence of India

B) The Socialist party decided to play foremost part in
anti-imperialist struggle

C) Revolutionary socialist Batukeshwar Dutt put forth a
ten-point plan to work for the success of anti-imperialist
front

D) It was a Communist party document, according to
which the National Congress could play a great part and a
foremost part in realizing the anti-imperialist people’s
front.




TS12/63

* The KHUNTKATTI tenure was prevalent in which one of

the following regions of India during the British Colonial
Rule?

A) Bundelkhand
B) Karnataka

C) Chota Nagpur

D) Madras Presidency




TS12/64

* Who was the author of the book “PLEAGUES and
PEOPLE”?

A) William H McNell

B) W I Thomas

C) Rachel Carson

D) David Cannadine




TS12/65

* Who among the following started the Indian Agriculture
Service?

A) Lord Curzon
B) William Bentinck

C) Lord Minto

D) Lord Rippon




TS12/66

* “CHANDIMANGALA” was composed in which one of the
following languages during the 16™ century CE?

A) Sanskrit
B) Tamil
C) Bengali

D) Oriya




TS12/67

* In December 1962, which Soviet Leader declared that
China was responsible for the Sino-Indian War of 19627

A) Khrushchev
B) Bulganin
C) Suslov

D) Malenkov




TS12/68

* Which of the following statements with regard to the
‘Make in India” initiative is/are correct?

1. [t was launched in the year 2018
2. Its objective is to foster innovation

Select the correct answer using the code given below

A) 10nly
B) 2 only
C) Both1and 2

D) Neither 1 nor 2




TS12/69

* Which one of the following States does Not have a
Legislative Council?

A) Karnataka

B) Telangana

C) Jammu and Kashmir

D) Arunachal Pradesh




TS12/70

* What is SWAYAM?

A) Study Webs of Active-Learning for Young Aspiring
Minds

B) Study Webs of Active Learning for Youth Aspiring
Minds

C) Study Webs of Active-Learning for Young Aspiration
Minds

D) Study Webs of Active-Learning for Youth of Aspiration
Minds




TS12/71

* Which one of the following is NOT enumerated in the

Constitution of India as a fundamental duty of citizens of
India?

A) To safeguard public property

B) To protect and improve the natural environment
C) To develop the scientific temper and spirit of inquiry

D) To promote international peace and security




TS12/72

* Who among the following in his book "THE
MANAGERIAL REVOLUTION” argued that a managerial
class dominated all industrial societies, both capitalist
and communist, by virtue of its technical and scientific
knowledge and its administrative skills?

A) James Burnham

B) Robert Michels
C) Gaetano Mosca

D) Vilfredo Pareto




TS12/73

* Which one of the following conditions laid down in the
Constitution of India for the issue of a writ of Quo-
Warranto is not coorect?

A) The office must be public and it must be created by a
Statute

B) The office must be a substantive one

C) There has been a contravention of the Constitution or
a Statute in appointing such person to that office

D) The appointment is in tune with a statutory provision




TS12/74

* Which one of the following equals Personal Disposable
Income?

A) Personal Income - Direct taxes paid by households
and miscellaneous fees, fines, etc

B) Personal Income - Saving of Private Corporate Sectors
— Corporation Tax

C) Private Income -Taxes

D) Total expenditure of Households - Income Tax - Gifts
received




TS12/75

* The working of the price mechanism in a free-market
economy refers to which one of the following?

A) The interplay of the forces of demand and supply

B) Determination of the inflation rate in the economy

C) Determination of the economy’s propensity to
consume

D) Determination of the economy’s full employment
out- put




TS12/76

* Indexation is a method whose use can be associated with
which one of the following?

A) Controlling inflation

B) Nominal GDP estimation

C) Measurement of savings rate

D) Fixing of wage compensation




TS12/77

* A car undergoes a uniform circular motion. The
acceleration of the car is

A) Zero
B) a non-zero constant

C) a non-zero but not a constant

D) None of the above




TS12/78

» An echo is heard after 5 seconds of the production of
sound which moves with a speed of 340 m/s. What is the
distance of the mountain from the source of sound which
produced the echo?

A) 0.085 KM

B) 0.85 KM

C) 017 KM

D) 1.7 KM




TS12/79

* A100 W electric bulb is used for 10 hours a day. How
many units of energy are consumed in 30 days?

A)1

C) 30




TS12/80

* Which of the following statements relating to 5"
Schedule of the Constitution of India is NOT correct?

A) It relates to the special provision for administration of
certain areas in the States other than Assam, Meghalaya<
Tripura and Mizoram

B) Tribal advisory councils are to be constituted to give

advice under the Fifth Schedule

C) The Governor is not authorized to make regulations to
prohibit or restrict the transfer of land by or among
members of the Scheduled Tribes

D) The Governors of the States in which there are
scheduled areas have to submit reports to the President
regarding the administration of such areas.




TS12/81

* Consider the following statements with regard to the
formation of new States and alteration of boundaries of
existing States:

1. Parliament may increase the area of any State
2. Parliament may diminish the area of any state
3. Parliament cannot alter the boundary of any State

4. Parliament cannot alter the name of any State

Which of the statements given above is/are Not correct?

A)1and 2
B) 2and 3
C) 3and 4
D) 4 only




TS12/82

* Consider the following statements:
1. The Advocate General of a State in India is appointed by
the President of India upon the recommendations of the
Governor of the concerned State
2. As provided in the Code of Civil Procedure, High
Courts have original appellate advisory jurisdiction at the
State level.

Which of the statements given above is are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS12/83

* Which one of the following Indian States has NO
International boundary?

A) Bihar

B) Chhattisgarh

C) Uttarakhand

D) Meghalaya




TS12/84

* Which one of the following Indian cities is NOT located
on a river bank?

A) Agra

B) Bhagalpur

C) Bhopal

D) Kanpur




TS12/85

* Which one of the following forms of Constitution
contains the features of both the Unitary and Federal
Constitution?

A) Unitary
B) Federal

C) Quasi-Federal

D) Quasi-Unitary




TS12/86

* Which one of the following is NOT correct regarding
South India?

A) Diurnal range of temperature is less

B) Annual range of temperature is less

C) Temperature is high throughout the year

D) Extreme climatic conditions are found




TS12/87

* Which one of the following statements regarding sex
composition is not correct?

A) In some countries, sex ratio is expressed as number of
males per thousand females

B) In India, sex ratio is expressed as number of females
per thousand males

C) At world level, sex ratio is about 102 males per 100
females

D) In Asia, there is high sex ratio.




TS12/88

* Who among the following has given the concept of
Human Development?

A) Amartya Sen

B) Mabub-ul-Haq

C) Sukhamoy Chakravarty

D) G S Chaddha




TS12/89

* Which one of the following regions is an important
supplier of citrus fruits?

A) Equatorial region

B) Mediterranean region

C) Desert region

D) Sub-humid region




TS12/90

* Who were the Nayanars?

A) Those who were immersed in devotion to Vishnu
B) Those who were devotees of Buddha
C) Leaders who were devotees of Shiva

D) Leaders who were devotees of Basveshwara




TS12/91

 Match List I with List II and select the correct answers
using the code given below the lists:

LIST I
Ethnic Territorial Segment

a) Maruta Makkal
b) Kuravan Makkal
c) Mullai Makkal
d) Neytal Makkal

Code:

LIST II
Related Occupational
Pattern
1. Pastoralists
2.Fishing people
3. Ploughmen
4. Hill People




TS12/92

* Who among the following Mughal emperors was a
follower of the Nagshbandiyya leader, Khwaja Ubaydullah
Ahrar?

A) Babur

B) Humayun

C) Akbar

D) Jahangir




TS12/93

* Which one of the following statements about the
Government of India Act, 1919 is NOT correct/

A) It extended the practice of communal representation

B) It made the Central Executive responsible to the
Legislature

C) It is also known as the Montague-Chelmsford Reforms

D) It paved the way for federalism by clearly separating
the responsibilities of the Centre and the Provinces




TS12/94

* The concept of ‘Four Pillar State” , free from district
magistracy for India was suggested by

A) Lala Lajpat Rai

B) Ram Manohar Lohia

C) Raja Ram Mohan Roy

D) Subhash Chandra Bose




TS12/95

* Which one among the following is not a part of the
Fundamental Rights (Part III ) of the Constitution of
India?

A) Prohibition of traffic in human beings and forced
labour

B) Prohibition of employment of children in factories

C) Participation of workers in management of industries

D) Practice any profession, or to carry on any occupation,
trade or business




TS12/96

* Which one of the following is not a geographical
requirement for cultivation of cotton?

A) Temperature reaching 25 degree C or more in summer

B) Moderate to light rainfall

C) Medium loam soil with good drainage

D) A growing period of at least 100 frost free days




TS12/97

* Which one of the following statements regarding
temperate coniferous forest biome is NOT correct?

A) They are characterized by very little undergrowth

B) They have a growing period of 50 to 100 days in a year

C) There is low variation in annual temperature

D) There is high range in spatial distribution of annual
precipitation




TS12/98

 Match List I with List II and select the correct answer
using the code given below the Lists:

LIST I LIST II

Peak Name of Hill
a) Animudi 1.Nilgiri
b) Doddabetta 2. Satpura

c) Dhupgrah 3. Aravali
d) Guru Shikhar 4. Annamalai

CODE
A)
B)
C)
D)




TS12/99

* Coral reefs are Not found in which one of the following
regions?

A) Lakshadweep Island
B) Gulf of Kachchh

C) Gulf of Mannar

D) Gulf of Cambay




TS12/100

* In which one of the following States is jute NOT
significantly cultivated?

A) Assam

B) West Bengal

C) Odisha

D) Andhra Pradesh
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